Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #10

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Bryce Avery are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
What type of resolution expresses the opinion of the House or Senate on a issue; does not have the force of law, and is usually reserved for statements of the sort, “Cal Ripken is a good baseball player”, which can pass both houses nearly unanimously?

ANSWER: CONCURRENT resolution

2. 
The autobiography "It's True, It's True" chronicles the path of what athlete from Olympic freestyle gold in Atlanta in 1996 to World Wrestling Federation heavyweight champion a mere four years later?

ANSWER: Kurt ANGLE
3.
In religion, this seven-letter word refers to the bread and wine of the Eucharist. As a plural, it is used as a literary term to refer to harsh or inclement weather. In mathematics, it is a member of a set. What is this term that in chemistry refers to a substance composed of atoms with the same number of protons?

ANSWER: ELEMENT
4. 
What is the formula for the area of an equilateral triangle, given a side of length s?

ANSWER: A = s^2 * sqrt(3)/4
5. 
What term is given to the hypothetical shell of an atom formed by a pair of electrons and consists of the locations of negative charge density, a location which is usually defined in terms of a number and a letter such as s, p, or d?

ANSWER: ORBITAL
6.  
After a fifty-year reign as King of the Geats of southern Sweden, he is killed while trying to slay a dragon.  Who was this hero of an Old English poem, who first had to kill Grendel and then Grendel’s mother?

ANSWER:  BEOWULF
7. 
What number replaces A in the equation x^3 - Ax^2 + 12x - 8 in order to make the polynomial a perfect cube?  

ANSWER: 6
8.
Named for an American astronomer, what name is given to the constant that is the relation between the distance of a remote galaxy and its velocity, or in layman’s terms, is the rate at which the universe is expanding?

ANSWER: HUBBLE’S constant

9.
What four words followed “Our Union” in the toast given by Andrew Jackson at the Jefferson Day dinner in 1830, effectively quashing South Carolina’s hopes of nullifying the Tariff of Abominations?

ANSWER: IT MUST BE PRESERVED
10.  
Used by both Watteau and Degas (DAY-gah) during both the Rococo and Impressionist periods, what drawing or painting technique uses colored chalks to create a dry, powdery appearance?

ANSWER:  PASTEL 

11.  There are two types:  bacterial, found in temperate climates, and amoebic, found in tropical areas.  What large intestinal infection causes abdominal cramps and blood-filled diarrhea?

ANSWER:  DYSENTERY
12.
The War of the Triple Alliance caused the death of over half of this country’s male population. What was this country that fought for five years against the alliance of Brazil, Argentina and Uruguay?

ANSWER: PARAGUAY
13.  
Traditionally announced by blowing a shofar, or ram’s horn, one hundred times, what two-day holiday marks the beginning of the Jewish New Year?

ANSWER:  ROSH HASHANAH

14.
What is the name of the function that is included in every C and C++ program?

ANSWER: MAIN
15.
This eight-sectioned epic poem begins just before the title character’s raid and ends after the assassination of Abraham Lincoln, and includes characters as wide-ranging as Southern slaveholders and Pennsylvania farm boys. What is this epic poem about the Civil War by Stephen Vincent Benet?

ANSWER: JOHN BROWN’S BODY
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
Who is the President of Iran that is trying to lead that country on a more moderate course?

ANSWER: Mohammad KHATAMI
1B.
Who is the author of the novels Black Spring, Tropic of Cancer and Tropic of Capricorn?

ANSWER: Henry MILLER
2A. 
What is the determinant of a 2x2 matrix with top row 17 and -12 and bottom row -34 and 24?  

ANSWER: 0
2B. 
What name is given to the process of very slowly adding a base to an acid (or vice versa) and waiting for a color change in the indicator, a process which requires a giant pipet and a steady hand?

ANSWER: TITRATION
3A.
Charles and Adam Trask are the main characters of what novel by John Steinbeck?


ANSWER: EAST OF EDEN
3B.
Matthias of Modin’s third son, Judah, became famous during the Jewish revolt against Antiochus IV, receiving what nickname that means “The Hammerer”?

ANSWER: MACCABEUS (prompt on Maccabi)

4A.
What type of collision occurs when the colliding objects “stick” together?

ANSWER: PERFECTLY INELASTIC collision

4B. 
What comedian had a short-lived variety show in the summer of 2001, but can still be seen on television alongside Colin Mochrie and Ryan Stiles on "Whose Line Is It Anyway?"?

ANSWER: Wayne BRADY
5A.
Mahathir bin Mohammad has been the Prime Minister of what Southeast Asian country since 1981?

ANSWER: MALAYSIA
5B.
What is the perimeter of a rectangle with diagonals whose sums are 20?

ANSWER: 28
6A.  
With his warning horn Gjall (JALL), what Norse god of light protected Bifrost, the rainbow bridge between Midgard and Valhalla?

ANSWER:  HEIMDALL

6B.  
Concerning the life of an upper-class Heian dynasty prince and his children, what eleventh-century Japanese romance was written by Lady Murasaki Shikibu?

ANSWER:  The TALE OF GENJI
7A. 
What is the second derivative at x = 3 of f(x) = 3x^3 - 11x^2 + 5x – 9?

ANSWER: 32
7B. 
What compound was the first ever organic compound to be synthesized in the laboratory?

ANSWER: UREA
8A.
What name is given to the series of three periods which is used to replace a block of quoted material?

ANSWER: ELLIPSIS or ELLIPSES
8B.
What is the northernmost of the four “Home Islands” of Japan?

ANSWER: HOKKAIDO
9A.  
A loss of its elasticity causes atherosclerosis.  Arising from the left ventricle, what main artery carries freshly oxygenated blood from the heart?

ANSWER:  AORTA
9B.  
What name is shared by a valved instrument of the saxhorn family and a male voice of range G2-F4 which lies between bass and tenor?

ANSWER:  BARITONE
10A.
The Yazoo land fraud of 1795 led to the throwing out of the legislature of what state?

ANSWER: GEORGIA
10B. 
Defining a diagonal as any line that does not connect consecutive points of a polygon, how many diagonals does a regular octagon have?

ANSWER: 20
Third period: 15 tossups
1.
What name is given to the parts of a balanced investment portfolio, such as precious metals or government bonds, made in order to protect against excessive declines in other parts of the portfolio?

ANSWER: HEDGE
2. 
The external angles of a convex nonagon are in the ratio 1:2:3:4:5:6:7:8:9.  What is the measure of the smallest internal angle?

ANSWER: 108 DEGREES
3.  
With Gabriel Garcia Marquez, she is one of the leading exponents of magic realism.  Who is this niece of a former socialist president of Chile who in 1999 published Daughter of Fortune?

ANSWER:  Isabel ALLENDE (a-YEN-day)

4.  
Several pressures of an expanding world population, including overcultivation, overgrazing, and deforestation, have led an increase in what environmental phenomenon, the degradation of arid zones, which threatens to make the whole world like the Sahara?

ANSWER:  DESERTIFICATION
5.
In October, Massachusetts Governor Jane Swift fired Joe Lawless, who had been the director of security at what international airport that serves Boston, and was where two planes used in the September 11 attacks took off?

ANSWER: LOGAN International Airport

6.
What five-letter word starting with “S” can alternately mean, devoid of frivolity, straightforward and simple, or most popularly, not under the influence of alcohol?

ANSWER: SOBER
7.  
Used in combination with a prostaglandin, it can induce an early abortion.  Also known as mifepristone, which drug has been used in France for a dozen years, and has a name that sounds like a question someone would ask an old computer?

ANSWER:  RU486 (accept MIFEPRISTONE until mentioned)

8.  
Antonio Vivaldi composed three concerti for what smallest member of the flute family?

ANSWER:  PICCOLO
9.
It was conquered in 1261 by Michael VIII during a civil war, in 1204 during the Fourth Crusade and in 1453 by Muhammad II, the Conqueror. What was this city which was the capital of the Byzantine and Ottoman Empires?

ANSWER: CONSTANTINOPLE (not Istanbul)

10. 
What is the next number in this sequence: 7, 4, 3, 4, 7, 12, 19, __  

ANSWER: 28 (sequence is x^2 + 3 from -2 to 5)

11.  
It did not win Best Picture, only Best Screenplay for Herman Mankiewicz and the star of the film, but what 1941 classic satire against William Randolph Hearst starred Orson Welles as a newspaper magnate?

ANSWER:  “CITIZEN KANE”
12.
On October 5, 1877, this Indian tribe surrendered to a Federal army under General Nelson Miles. Who was this tribe that had stymied American pursuit attempts for several months under the leadership of chiefs including the famous Chief Joseph?

ANSWER: NEZ PERCE
13. 
A solid figure is made up of 123 edges connecting 85 vertices.  How many faces does it have?

ANSWER: 40
14.
This poem consists of four quatrains and describes the experiences of a solitary traveler who is driven by his business and transfixed by a wintry woodland scene. What is this poem which closes “The woods are lovely, dark and deep, / But I have promises to keep, / And miles to go before I sleep, / And miles to go before I sleep,” written by Robert Frost?

ANSWER: STOPPING BY WOODS ON A SNOWY EVENING
15.  
In ecology, what name is given to the biological, chemical, and physical place occupied by a species in its habitat, which can more generally mean a specialty at which one is proficient or suited?

ANSWER:  NICHE
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
What is the value of x^2 + 8x + 2 at x = 3?  

ANSWER: 35
While studying the antibacterial enzyme named lysozyme, which Scottish biologist found a strange mold growing on a culture dish, which he isolated into the drug penicillin?

ANSWER:  Alexander FLEMING
In defiance of her uncle Creon’s orders, she decides to bury her brother Polynices, who had been one of the Seven Against Thebes.  What heroine of a Sophocles (SAH-foh-clees) tragedy hangs herself while she is imprisoned in a cave?

ANSWER:  ANTIGONE (an-TIH-go-nee)

Warren Harding defeated what Democratic candidate in the 1920 Presidential election?

ANSWER: James COX
Who was won the race to follow William Hague as leader of the Conservative Party in the United Kingdom?

ANSWER: Iain Duncan SMITH

All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


